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London Fog 
created by Lisa Overby 

This asymmetrical triangle shawl starts at a single point and grows with      

increases on the one side every other row.  The lace section is interesting to 

knit, the honeycomb brioche adds a nice squish factor and the i-cord edges 

and bind off make the edges neat.  This shawl is knit with 4 skeins of worsted 

weight yarn.  For the sample I used Lily & Pine’s  Aspen Worsted in the        

colourway London Fog. 



 

 London Fog 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

©2022 Yarn Twisters                                     2 

MATERIALS & INFO 

Yarn:  4 skeins Lily & Pine Aspen Worsted 210 
yards/115 g; 100% SW Merino; Sample knit in colour-
way London Fog 

Gauge:  24 sts  by 22 rows equals 4” by 4” in lace pat-
tern after blocking 

Needles: 5.5 mm (US 9) 32” circular needles, or size 
needed to obtain gauge  

Notions: stitch markers, darning needle 

Finished size: Centre Depth: 49” (124cm); Wingspan: 
62” (157cm) 

Notes: 

Try to work your i-cord edge sts loosely to avoid a 
border that is too tight 

Stitch markers are helpful through out the lace sec-
tion of the shawl 

Increases are made every WS row 

Do not count your sts in the lace section until after 
completion of the WS row 

Chart for lace repeat in Sections 1 & 2 on page 5 

 

 

 

 

 

 

 

 

 

 

 

 

 

ABBREVIATIONS 

BO - bind off 

brk - brioche knit: knit the slipped st and its “yarnover 
shawl” together as one st  

CO - cast on 

k - knit 

kfb - knit into the front of the stitch, leaving on the 
left hand needle, knit into the back of the same stitch, 
dropping the stitch off the left hand needle (1 stitch 
increased)  

k2tog - knit 2 together; insert needle into the next 2 
sts, knit the 3 sts together as one (1 st decreased) 

k3tog - knit 3 together; insert needle into the next 3 
sts, knit the 3 sts together as one (2 sts decreased) 

LHN - left hand needle 

p - purl 

pm – place marker 

RHN - right hand needle 

RS - right side 

sl - slip st purlwise 

sl1kw, k2tog, psso - slip 1 st knitwise, knit the next 2 
sts together, pass slipped st over the k2tog (2 sts de-
creased)  

sl1yo - bring yarn to front of work (if it is not already 
there), slip st purlwise, wrap a yarnover around the 
slipped st 

st/sts - stitch/stitches 

tbl - through the back loop 

WS  - wrong side 

wyif - with yarn in front 

yo - yarnover 



 

 London Fog 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

©2022 Yarn Twisters                                     3 

PATTERN INSTRUCTIONS 

CO 6 sts, p2, kfb, sl 3 wyif (7 sts)   

Set up 

Row 1 (RS): k3, k1tbl, sl3 wyif  

Row 2 (WS): k2, kfb, p1tbl, sl3 wyif (8 sts) 

Row 3: k3, p1tbl, k, sl3 wyif  

Row 4: k2, kfb, k1, p1tbl, sl3 wyif (9 sts) 

Row 5: k3, k1tbl, p2, sl3 wyif 

Row 6: k2, kfb, k2, p1tbl, sl3 wyif (10 sts) 

Row 7: k3, k1tbl, p2, k1, sl3 wyif 

Row 8: k2, kfb, p1, k2, p1tbl, sl3 wyif (11 sts) 

Row 9: k3, k1tbl, p2, k2, sl3 wyif  

Row 10: k2, kfb, p2, k2, p1tbl, sl3 wyif (12 sts) 

Row 11: k3, k1tbl, p2, k3, sl3 wyif 

Row 12: k2, kfb, p3, k2, p1tbl, sl3 wyif (13 sts) 

Row 13: k3, k1tbl, p2, k3tog, yo, p1, sl3 wyif 

Row 14: k2, kfb, k1, p1, yo, p1, k2, p1tbl, sl3 wyif (14 sts) 

Row 15: k3, k1tbl, p2, k3, p2, sl3 wyif 

Row 16: k2, kfb, k2, p3, k2, p1tbl, sl3 wyif (15 sts) 

Row 17: k3, k1tbl, p2, yo, sl1kw, k2tog, psso, p2, k1tbl, 
sl3 wyif 

Row 18: k2, kfb, p1tbl, k2 p1, yo, p1, k2, p1tbl, sl3 wyif 
(16 sts) 

Row 19: k3, k1tbl, p2, k3, p2, k1tbl, p1, sl3 wyif 

Row 20: k2, kfb, k1, p1tbl, k2, p3, k2, p1tbl, sl3 wyif (17 
sts) 

Row 21: k3, k1tbl, p2, k3tog, yo, p2, k1tbl, p2, sl3 wyif 

Row 22: k2, kfb, k2, p1tbl, k2, p1, yo, p1, k2, p1tbl, sl3 
wyif (18 sts) 

Row 23: k3, k1tbl, p2, k3, p2, k1tbl, p2, k1, sl3 wyif 

Row 24: k2, kfb, p1, k2, p1tbl, k2, p3, k2, p1tbl, sl3 wyif 
(19 sts) 

Row 25: k3, k1tbl, p2, yo, sl1kw, k2tog, psso, p2, k1tbl, 
p2, k2, sl3 wyif 

 

 

Row 26: k2, kfb, p2, k2, p1tbl, k2, p1, yo, p1, k2, p1tbl, 
sl3 wyif (20 sts) 

Row 27: k3, k1tbl, p2, k3, p2, k1tbl, p2, k3, sl3 wyif  

Row 28: k2, kfb, p3, k2, p1tbl, k2, p3, k2, p1tbl, sl3 wyif 
(21 sts) 

Row 29: k3, k1tbl, p2, k3tog, yo, p2, k1tbl, p2, k3tog, 
yo, p1, sl3 wyif 

Row 30: k2, kfb, k1, p1, yo, p1, k2, p1tbl, k2, p1, yo, p1, 
k2, p1tbl, sl3 wyif (22 sts) 

Row 31: k3, *k1tbl, p2, k3, p2*, repeat ** to last 3 sts, 
sl3 wyif 
Row 32: k2, kfb, *k2, p3, k2, p1tbl*, repeat ** to last 3 
sts, sl3 wyif (23 sts) 

Section 1 

Row 1 (RS): k3, * k1tbl, p2, yo, sl1kw, k2tog, psso, p2*, 
repeat ** to last 4 sts, k1tbl, sl3wyif 

Row 2 (WS): k2, kfb, p1tbl, *k2, p1, yo, p1, k2, p1tbl*, 
repeat ** to last 3 sts, sl3 wyif (1 st increased) 

Row 3: k3, *k1tbl, p2, k3, p2*, repeat ** to last 5 sts, 
k1tbl, p1, sl3 wyif 

Row 4: k2, kfb, k1, p1tbl, *k2, p3, k2, p1tbl*, repeat ** 
to last 3 sts, sl3wyif (1 st increased) 

Row 5: k3, * k1tbl, p2, k3tog, yo, p2*, repeat ** to last 
6 sts, k1tbl, p2, sl3 wyif 

Row 6: k2, kfb, k2, p1tbl, *k2, p1, yo, p1, k2, p1tbl*, re-
peat ** to last 3 sts, sl3 wyif (1 st increased) 

Row 7: k3, *k1tbl, p2, k3, p2*, repeat ** to last 7 sts, 
k1tbl, p2, k1, sl3 wyif 

Row 8: k2, kfb, p1, k2, p1tbl, *k2, p3, k2, p1tbl*, repeat 
** to last 3 sts, sl3 wyif (1 st increased) 

Row 9: k3, *k1tbl, p2, yo, sl1kw, k2tog, psso, p2*, re-
peat ** to last 8 sts, k1tbl, p2, k2, sl3 wyif 

Row 10: k2, kfb, p2, k2, p1tbl, *k2, p1, yo, p1, k2, p1tbl*, 
repeat ** to last 3 sts, sl3 wyif (1 st increased) 

Row 11: k3, *k1tbl, p2, k3, p2*, repeat ** to last 9 sts, 
k1tbl, p2, k3, sl3 wyif 
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PATTERN INSTRUCTIONS cont’d 

Row 12: k2, kfb, p3, k2, p1tbl, *k2, p3, k2, p1tbl*, re-
peat ** to last 3 sts, sl3 wyif (1 st increased) 

Row 13: k3, *k1tbl, p2, k3tog, yo, p2*, repeat ** to last 
10 sts, k1tbl, p2, k3tog, yo, p1, sl3wyif 

Row 14: k2, kfb, k1, p1, yo, p1, k2, p1tbl, *k2, p1, yo, p1, 
k2, p1tbl*, repeat ** to last 3 sts, sl3 wyif (1 st in-
creased) 

Row 15: k3, *k1tbl, p2, k3, p2*, repeat ** to last 3 sts, 
sl3 wyif 

Row 16: k2, kfb, *k2, p3, k2, p1tbl*, repeat ** to last 3 
sts, sl3 wyif (1 st increased) 

Rows 17 to 80: repeat Rows 1 to 16 four more times 
(63 sts) 

Section 2 

Row 1 (RS): k3, * k1tbl, p2, yo, sl1kw, k2tog, psso, p2*, 
repeat ** to last 4 sts, k1tbl, sl3wyif 

Row 2 (WS): k2, kfb, pm, p1tbl, *k2, p1, yo, p1, k2, 
p1tbl*, repeat ** to last 3 sts, sl3 wyif (64 sts) 

Row 3: k3, *k1tbl, p2, k3, p2*, repeat ** to 1 st before 
marker, k1tbl, k1, sl3 wyif 

Row 4: k2, kfb, k1, p1tbl, *k2, p3, k2, p1tbl*, repeat ** 
to last 3 sts, sl3wyif (65 sts) 

Row 5: k3, * k1tbl, p2, k3tog, yo, p2*, repeat ** to 1 st 
before marker, k1tbl, k to last 3 sts, sl3 wyif 

Row 6: k2, kfb, k1, sl1yo, p1tbl, *k2, p1, yo, p1, k2, 
p1tbl*, repeat ** to last 3 sts, sl3 wyif (66 sts) 

Row 7: k3, *k1tbl, p2, k3, p2*, repeat ** to 1 st before 
marker, k1tbl, sm, brk, k to last 3 sts, sl3 wyif 

Row 8: k2, kfb, k1, sl1yo, k1, p1tbl, *k2, p3, k2, p1tbl*, 
repeat ** to last 3 sts, sl3 wyif (67 sts) 

Row 9: k3, * k1tbl, p2, yo, sl1kw, k2tog, psso, p2*, re-
peat ** to 1 st before marker, k1tbl, *k1, brk*, repeat 
** to last 5 sts, k2, sl3 wyif 

Row 10: k2, kfb, *k1, sl1yo*, repeat ** to marker, p1tbl, 
*k2, p1, yo, p1, k2, p1tbl*, repeat ** to last 3 sts, sl3 
wyif (1 st increased) 

 

 

Row 11: k3, *k1tbl, p2, k3, p2*, repeat ** to 1 st before 
marker, k1tbl, *brk, k1*, repeat to last 4 sts, k1, sl3 
wyif 

Row 12: k2, kfb, *k1, sl1yo*, repeat to 1 st before mark-
er, k1, p1tbl, *k2, p3, k2, p1tbl*, repeat ** to last 3 sts, 
sl3 wyif (1 st increased) 

Row 13: k3, * k1tbl, p2, k3tog, yo, p2*, repeat ** to 1 st 
before marker, k1tbl, *k1, brk*, repeat to last 5 sts, k2, 
sl3wyif 

Row 14: k2, kfb, *k1, sl1yo*, repeat to marker, p1tbl, 
*k2, p1, yo, p1, k2, p1tbl*, repeat ** to last 3 sts, sl3 
wyif (1 st increased) 

Row 15: k3, *k1tbl, p2, k3, p2*, repeat ** to 1 st before 
marker, k1tbl, *brk, k1*, repeat to last 4 sts, k1, sl3 
wyif 

Row 16: k2, kfb, *k1, sl1yo*, repeat to 1 st before mark-
er k1, p1tbl, *k2, p3, k2, p1tbl*, repeat ** to last 3 sts, 
sl3 wyif (1 st increased) (71 sts) 

Rows 17 to 216: repeat Rows 9 to 16 twenty-five more 
times (167 sts) 

Bind Off 

I-cord BO as follows: *k2, k2tog tbl, sl 3 sts back to 
LHN; repeat from * until 3 sts remain, k2tog, k1, sl 2 
sts back to LHN, k2tog tbl, break yarn, leaving enough 
of a tail to weave in, pull tail through the last st and 
pull tight to close 

Weave in ends, block to measurements 
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PATTERN INSTRUCTIONS cont’d 

Chart for lace in Sections 1 & 2 


